Solve Linear Fractional Equations

Strategy — Get rid of the fractions by multiplying BOTH sides of the equation by the common
denominator, then solve the resulting equation.

Example  Solve for x; g— - g =x-5
The CD is 6, so multiply both sides of the eqn. by 6

6[5--51=6(x-5)

3x —2x =6x— 30

x =6x—-30
+30 = 5x
6 =X

Solve the following equations.

1.12(—13(=2 z_g_%(:g
3.12(+13(=11 4_%’+12=_3
5.%-%(:4 6.3+ =x+6
7.2—5=4—15( 8.13(—1—5=14—15(
94—5;—7=o—13( 1012+%=x

1. %—12=x 12.x—3—2x=712
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Solve Linear Fractional Equations

1:’,.x=1+12(+%i+i8(+%3 14. X;6=5_29
15, X;3=%7 16. X3 14-0
17. %7=7;5X 18, 2x—g - 422X
19. 2X§X12=2 20, is( x;2+
21, XZ3+4X5‘5=5 - X£2+3x;2
Ly 2X+13 6-x _, t a6

3 "4 7
25, 3("4‘1)+5X;7=;;> 2. 2n;3_%3_2
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